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+
= c x+ + N x 0 + D.P.
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CQ+AOSdA+
J r

-(%+A0  +dA)
Y 2 Q 2 Q

2-2anO(  9-d)
=

Y s+g+dA+ 2 - 2= CAO(l-d)
2 Q
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a + E +dA P 2

4 ,. +
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2 ~,OOO
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t 4 4 , 0 0 0



6,001 &a.mn~?rpu 0.80

5,001 - 6,000 1.0

4,001 - 5,000 1.2

3,001 - 4,000 1.5

1 - 3,000 1.8
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8117  EOQ WI4 Price Break
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j.w = 5590 (EOQI)

JT = 5000 (EOQ~)

J2 x~oo,ooo~  25 = 4565 (EOQ3)
0.2 xl.2

J'v = 4083 (EOQ4)

~2X;p~f~~gx25  = 3727 (EOQ~)
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MAI  (lm)

+wdupS; fGqunoeJui3 X72Gwlyn~std~inlr7  X71&u ?Glylm

&A)
(1oo,ooq  x (2onXUaR1~~4R~Fl~~ lLUr;7T

f
a%

TV?VlEMl?U> nu rnau) nmsa

4565 120,000 547.80 547.65 121,095.45

5001 100,000 500.10 499.9 lol,ooo.o

6001 so ) 000 4So.08 416.60 80,896.68
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R??UlhW&l (Safety Stock or Buffer Stock)
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Safety Stock
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1 8 2

= 200 + 50

= 250 ,u'21

r = RdL  + S
I

L = lead time Inu du ciilu)

s = Safety Stock (V&U)





E 204.934  ii'it!llfi.l

EOQ+  = 2 0 5  Yianj‘YU

s = rd

S = 2.32 x 2

f 4.64

p! 5 iTIan&

I
r = R6.L + s

= 6 x 3 + 5

= 2 3  Clanr’u
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